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Question Id : 4058591998 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Qﬂﬂllegedunia

-



Read the following passage and answer the questions given below:

As cricket fever sweeps the nation, restaurants and cmemas are bracing for a
surge in revenues and full houses this Sunday when India takes on Australia in
the cricket World Cup final. Eateries are pulling out all the stops to make the
most of the high-stakes event, with special menus, discounts, and games planned
alongside the match. A restaurant in Delhi is already fielding calls from eager
fans trying to book a spot in advance. "Everybody at the restaurant is excited
because India is in the final. We are putting up massive LED screen at many
points in the unit, which will make it a lovely destination to enjoy the match in a
group.”

Another restaurant in Gurugram's Cyberhub is offering a 15 per cent discount
to customers who come in wearing the Indian cricket jersey to the screening and
will also have a dhol waala on the spot. The sponsors created excitement not
only for consumers but also for the team. We witnessed a massive jump in
foottall during all the World Cup matches and needless to say that all India
matches were housefull.

We are expecting a 100 per cent rise in footfall over usual Sundays. and
queries have already started pouring in since last Friday. A rise of 100 per cent in
revenue on the night of the World Cup final is also expected.

Eateries n Mumbai are organising "Powerplay at the Dining Table" , where
patrons can predict team India's muns during key overs and savour victory with
exclusive dishes.

Embrace the sporting spirit as you cover the cost of your wagered item if
luck doesn't swing your way.

The restaurant is also offering exclusive desserts for the occasion: 'The King
Kohli', a tart shell field with caramelised white chocolate ganache. and roasted
macadamia nuts, topped with a coffee mousse, and an almond and cocoa
sponge. vanilla bean mascarpone cream. and 64 per cent manjari dark chocolate
mousse, all encased in a red glaze.

Cafe C 1s offering exclusive match-day deals of 3+1 on soft drinks. "We
aren't sold out, but we are getting reservations at a high speed for the screening
on Sunday. We are expecting a 30-40 per cent increase in revenue on the day."

A cinema chain. too, is hoping to recreate a stadmm-like atmosphere for fans
by screening the final match at its cinemas in more than 45 cities. "Since the
second semifinal between Australia and South Africa was held on November
2016. we opened advances for the finals only late Thursday night: over 45 per
cent advance tickets have already been sold out our theatres.” says the executive
director.

"This will be a grand festival taking the thrill of the World Cup to newer
heights. Fans can enjoy the unlimited refills of popcorn and soft drink while
cheering for India."” adds the director.

Sub questions

Question Number : 1 Question Id : 4058591999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25 Q
Choose the correct statement from the following : 5 col |EE edunia

-



Options :

Eateries are pulling out all the stops to prepare themselves for surge in revenues
4058596531, and full houses owing to World Cup final.

4058596532, A restaurant 1s fielding eager calls for cricket match tickets.
4058596533, Another restaurant 1s offering 3+1 offer on cricket match tickets.

4058596534, A cinema chain is preparing to host the final match.

Question Number : 2 Question Id : 4058592000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option that means the same as :

"Pulling out all the stops”

Options:

4058596535, keep separately
4058596536. no holds barred

4058596537, to pull something or somebody in a particular way

4058596538, scll by date

Question Number : 3 Question Id : 4058592001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25 chllegedunia

-



Choose the word that means :

"Sound of the steps made by somebody walking”

Options :

4058596539, patrons

4058596540, Powerplay
4058596541, macadamia

4058596542, foottall

Question Number : 4 Question Id : 4058592002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as :

'to relish something'
Options :

4058596543. savour

4058596544, sporting
4058596545. embrace

4058596546, desserts

Question Number : 5 Question Id : 4058592003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
5 collegedunia

-



Correct Marks : 1 Wrong Marks : 0.25

[dentify the odd one out
Options :

4058596547, mascarpone

4058596548, SPonsor

4058596549, ganache

4058596550. cocoa

Question Id : 4058591998 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

Qﬂﬂllegedunia

-



Read the following passage and answer the questions given below:

As cricket fever sweeps the nation, restaurants and cmemas are bracing for a
surge in revenues and full houses this Sunday when India takes on Australia in
the cricket World Cup final. Eateries are pulling out all the stops to make the
most of the high-stakes event, with special menus, discounts, and games planned
alongside the match. A restaurant in Delhi is already fielding calls from eager
fans trying to book a spot in advance. "Everybody at the restaurant is excited
because India is in the final. We are putting up massive LED screen at many
points in the unit, which will make it a lovely destination to enjoy the match in a
group.”

Another restaurant in Gurugram's Cyberhub is offering a 15 per cent discount
to customers who come in wearing the Indian cricket jersey to the screening and
will also have a dhol waala on the spot. The sponsors created excitement not
only for consumers but also for the team. We witnessed a massive jump in
foottall during all the World Cup matches and needless to say that all India
matches were housefull.

We are expecting a 100 per cent rise in footfall over usual Sundays. and
queries have already started pouring in since last Friday. A rise of 100 per cent in
revenue on the night of the World Cup final is also expected.

Eateries n Mumbai are organising "Powerplay at the Dining Table" , where
patrons can predict team India's muns during key overs and savour victory with
exclusive dishes.

Embrace the sporting spirit as you cover the cost of your wagered item if
luck doesn't swing your way.

The restaurant is also offering exclusive desserts for the occasion: 'The King
Kohli', a tart shell field with caramelised white chocolate ganache. and roasted
macadamia nuts, topped with a coffee mousse, and an almond and cocoa
sponge. vanilla bean mascarpone cream. and 64 per cent manjari dark chocolate
mousse, all encased in a red glaze.

Cafe C 1s offering exclusive match-day deals of 3+1 on soft drinks. "We
aren't sold out, but we are getting reservations at a high speed for the screening
on Sunday. We are expecting a 30-40 per cent increase in revenue on the day."

A cinema chain. too, is hoping to recreate a stadmm-like atmosphere for fans
by screening the final match at its cinemas in more than 45 cities. "Since the
second semifinal between Australia and South Africa was held on November
2016. we opened advances for the finals only late Thursday night: over 45 per
cent advance tickets have already been sold out our theatres.” says the executive
director.

"This will be a grand festival taking the thrill of the World Cup to newer
heights. Fans can enjoy the unlimited refills of popcorn and soft drink while
cheering for India."” adds the director.

Sub questions

Question Number : 1 Question Id : 4058591999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25 Q
Choose the correct statement from the following : 5 col |EE edunia

-



Options :

Eateries are pulling out all the stops to prepare themselves for surge in revenues
4058596531, and full houses owing to World Cup final.

4058596532, A restaurant 1s fielding eager calls for cricket match tickets.
4058596533, Another restaurant 1s offering 3+1 offer on cricket match tickets.

4058596534, A cinema chain is preparing to host the final match.

Question Number : 2 Question Id : 4058592000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option that means the same as :

"Pulling out all the stops”

Options:

4058596535, keep separately
4058596536. no holds barred

4058596537, to pull something or somebody in a particular way

4058596538, scll by date

Question Number : 3 Question Id : 4058592001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25 chllegedunia

-



Choose the word that means :

"Sound of the steps made by somebody walking”

Options :

4058596539, patrons

4058596540, Powerplay
4058596541, macadamia

4058596542, foottall

Question Number : 4 Question Id : 4058592002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as :

'to relish something'
Options :

4058596543. savour

4058596544, sporting
4058596545. embrace

4058596546, desserts

Question Number : 5 Question Id : 4058592003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
5 collegedunia

-



Correct Marks : 1 Wrong Marks : 0.25

[dentify the odd one out
Options :
4058596547, Mmascarpone

4058596548, SPoLsOr

4058596549, ganache

4058596550. cocoa

Sub-Section Number : 2
Sub-Section Id : 405859134
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592004 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (6 to 11)

Question Label : Comprehension

Qﬂﬂllegedunia

-



Assam. lying between 89° 42' E and 96° E longitudes and 24° 8' N and 28° 2'N
latitudes. occupies the central location in north-east India. With its western border
directly connected to West Bengal, the State 1s also regarded as the gateway to the
north-eastern States. During the epic period. the State was known as Pragjyotisha.
It meant, "the land of eastern astronomy'. Subsequently, the State came to be
known as Kamarupa as testified to by the Allahabad Pillar Inscription of King
Samudragupta. This name remained in vogue till about the 12th century CE. From
the 13th century CE the State came to be ruled by the Ahoms. According to some
scholars. the State owes 1ts present name to them. However, going by another
interpretation. the State may have drawn its current name from the Sanskrit word
asoma. which means 'peerless’ or 'unparalleled'. The Ahoms remained in power for
about six hundred years. Thereafter, the State passed into the hands of the
Burmese. However, the British seized it from them through the Treaty of Yandaboo
signed 1in 1826 CE. Finally. the State was incorporated into the Indian Union.

The present State of Assam. covering an area of 78.438 square kilometers. mainly
consists of two extensive river valleys: the valley formed by the River
Brahmaputra and its tributaries in the north: and the valley formed by the River
Barak and its tributaries in the south. Between these two valleys run the long range
of hills (Karbi. North Cachar and Barail), which account for much of the State's
greenery and wildlife. It is because of this unique topographical feature that the
State 1s also known as the 'Land of Red River and Blue Hills".

Sub questions

Question Number : 6 Question Id : 4058592005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Assam 1s regarded as the gateway to north - eastern states as -
Options :

4058596551 . 1t occupies the central location is North - East India.
4058596552, 1ts western border is directly connected to West - Bengal.

4058596553, during the epic period it was known as Pragjyotisha.

4058596554, 1t 1s a unique state in the whole of India.

Question Number : 7 Question Id : 4058592006 Question Type : MCQ . EG”EgEdU nia

-



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The testimony that Assam was known as Kamarupa comes from -

Options :

4058596555, Pragjyotisha

4058596556, Allahabad Pillar Inscription

4058596557, 12 Century CE

4058596558, Ahoms

Question Number : 8 Question Id : 4058592007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Assam owes 11"':- present name 1o -
Options :

4058596559, King Samudragupta

4058596560, Epic Period
4058596561. Ahoms

4058596562, Scholars

Question Number : 9 Question Id : 4058592008 Question Type : MCQ Nntinn Chufflina : Vac Te

Question Mandatory : No Calculator : None Response Time : N.A Thi . CG“EEEdUHiH

-



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A Sanskrit word for 'peerless’ 1s -

Options :

4058596563, Pragjyotisha
4058596564, Kamarupa

4058596565. Ahom

4058596566. Asoma

Question Number : 10 Question Id : 4058592009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The treaty of Yandaboo resulted in
Options :

4058596567, British taking over West Bengal from the Burmese
4058596568, Indian Union taking over Assam from the British
4058596569, Indian Union taking over Assam from the Burmese

4058596570, British taking over Assam from the Burmese

Question Number : 11 Question Id : 4058592010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
Qcﬂllegeduma

-



Correct Marks : 1 Wrong Marks : 0.25

Find one word from the passage for the given group of words 'a stream that flows
mto a larger river or a lake'.

Options :

4058596571, longitude
4058596572, Incorporate
4058596573, Valley

4058596574, tributary

Question Id : 4058592004 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (6 to 11)

Question Label : Comprehension

Asgam. lying between 89° 42' E and 96° E longitudes and 24° §' N and 28° 2'N
latitudes. occupies the central location in north-east India. With its western border
directly connected to West Bengal, the State 1s also regarded as the gateway to the
north-eastern States. During the epic period. the State was known as Pragjyotisha.
It meant, "the land of castern astronomy'. Subsequently, the State came to be
known as Kamarupa as testified to by the Allahabad Pillar Inscription of King
Samudragupta. This name remained in vogue till about the 12th century CE. From
the 13th century CE the State came to be ruled by the Ahoms. According to some
scholars. the State owes its present name to them. However, going by another
interpretation. the State may have drawn its current name from the Sanskrit word
asoma. which means 'peerless’ or 'unparalleled'. The Ahoms remained in power for
about six hundred years. Thereafter, the State passed into the hands of the
Burmese. However, the British seized it from them through the Treaty of Yandaboo
signed in 1826 CE. Finally. the State was incorporated into the Indian Union.

The present State of Assam. covering an area of 78.438 square kilometers. mainly
consists of two extensive river valleys: the valley formed by the River
Brahmaputra and its tributaries in the north; and the valley formed by the River
Barak and its tributaries in the south, Between these two valleys run the long range
of hills (Karbi. North Cachar and Barail), which account for much of the State's

greenery and wildlife. It 1s because of this unique topographical feature that th
State 15 also known as the 'Land of Red River and Blue Hills'. Q colle ge dunia

-



Sub questions

Question Number : 6 Question Id : 4058592005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Assam 1s regarded as the gateway to north - eastern states as -
Options :

4058596551 . 1t occupies the central location 1s North - East India.
4058596552, 1ts western border is directly connected to West - Bengal.
4058596553, during the epic period it was known as Pragjyotisha.

4058596554, 1t 1s a unique state in the whole of India.

Question Number : 7 Question Id : 4058592006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The testimony that Assam was known as Kamarupa comes from -
Options :

4058596555, Pragjyotisha

4058596556, Allahabad Pillar Inscription

4058596557. 12 Century CE

4058596558, Ahoms
Qcﬂllegedunia

-



Question Number : 8 Question Id : 4058592007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Assam owes 11"'-.- pl'ES&I‘ll’ name 1o -
Options :

4058596559, King Samudragupta

4058596560, Epic Period
4058596561. Ahoms

4058596562, Scholars

Question Number : 9 Question Id : 4058592008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A Sanskrit word for 'peerless’ 1s -

Options :

4058596563, Pragjyotisha
4058596564, Kamarupa

4058596565. Ahom

4058596566. Asoma

Qﬂﬂllegedunia

-



Question Number : 10 Question Id : 4058592009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The treaty of Yandaboo resulted in
Options :

4058596567, British taking over West Bengal from the Burmese
4058596568, Indian Union taking over Assam from the British
4058596569, Indian Union taking over Assam from the Burmese

4058596570, British taking over Assam from the Burmese

Question Number : 11 Question Id : 4058592010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find one word from the passage for the given group of words 'a stream that flows
into a larger river or a lake'.

Options:
4058596571, longitude
4058596572, incorporate

4058596573, Valley

4058596574, tributary

Sub-Section Number : 3 .
5 collegedunia

-



Sub-Section Id : 405859135
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 12 Question Id : 4058592011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The study of worms and insects is called

Options :

4058596575, taxidermy
4058596576, citomology
4058596577 ornithology

4058596578, Paleontology

Question Number : 12 Question Id : 4058592011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The study of worms and insects is called

Options :

4058596575, taxidermy

4058596576, citomology

4058596577 ornithology
Qﬂﬂllegedunia

-



4058596578, Paleontology

Question Number : 13 Question Id : 4058592012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word.

broke out when the news was announced.
Options :

4058596579. Pandamonium
4058596580. Pandemonium
4058596581. Pandamoneum

4058596582. Pandemoneum

Question Number : 13 Question Id : 4058592012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word.

broke out when the news was announced.
Options :

4058596579. Pandamonium

4058596580. Pandemonium

4058596581. Pandamoneum QEG' IEg E'El un iEl

-



4058596582. Pandemoneum

Question Number : 14 Question Id : 4058592013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct words.

Her is very endearing.

Options :

4058596583, Panashe
4058596584, Panache
4058596585, Panach

4058596586, Panash

Question Number : 14 Question Id : 4058592013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct words.

Her is very endearing.

Options :

4058596583, Panashe

4058596584, Panache .
5 collegedunia

-



4058596585, Panach

4058596586, Panash

Question Number : 15 Question Id : 4058592014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank -

This misinformation would have gone around who knows how long.
Options :

4058596587. since

4058596588. for

4058596589, by

4058596590. from

Question Number : 15 Question Id : 4058592014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank -

This misinformation would have gone around who knows how long.
Options:

4058596587. since

4058596588. for QEG“EEEE'U nia

-



4058596589, by

4058596590, from

Question Number : 16 Question Id : 4058592015 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank:

I like you to do as I tell you.

Options :

4058596591, shall
4058596592, should
4058596593. will

4058596594, could

Question Number : 16 Question Id : 4058592015 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank:

I like you to do as I tell you.
Options:

4058596591, shall

Qﬂﬂllegedunia

-



4058596592, should
4058596593 will

4058596594. could

Question Number : 17 Question Id : 4058592016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank:

Mr. Verma wait any longer?
Options :

4058596595, Need
4058596596. Does

4058596597. Had

4058596598, Might

Question Number : 17 Question Id : 4058592016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank:

Mr. Verma wait any longer?

Options :

4058596595. Need anllegedu nia

-



4058596596. Does

4058596597. Had

4058596598, Might

Question Number : 18 Question Id : 4058592017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part -

You have come here with a view to msult me.

Options:

4058596599, for insulting me
4058596600, of insulting me
4058596601, on insulting me

4058596602, to insulting me

Question Number : 18 Question Id : 4058592017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part -

You have come here with a view to insult me.
Options: QEG“EEEE'UHI'EI

-



4058596599, for insulting me
4058596600, of insulting me
4058596601, on insulting me

4058596602, to insulting me

Question Number : 19 Question Id : 4058592018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling.
Options :
4058596603. RESCISSION

4058596604. RISCESSION
4058596605. RESCESSION

4058596606. RESCISSEON

Question Number : 19 Question Id : 4058592018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling.

Options :

4058596603. RESCISSION QEG“EEE dunia

-



4058596604. RISCESSION
4058596605. RESCESSION

4058596606. RESCISSEON

Question Number : 20 Question Id : 4058592019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options:
4058596607. MONUMENTALLY

4058596608. MONUMANTALLY
4058596609. MONUMENTALY

4058596610. MONUMANTALY

Question Number : 20 Question Id : 4058592019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options :

4058596607. MONUMENTALLY

4058596608. MONUMANTALLY Qﬂfﬂ legedunia

-



4058596609. MONUMENTALY

4058596610. MONUMANTALY

Question Number : 21 Question Id : 4058592020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :
4058596611. MONSTROCIETY

4058596612. MONSTROSITY
4058596613. MONSTROSIETY

4058596614. MONSTROCITY

Question Number : 21 Question Id : 4058592020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options:

4058596611. MONSTROCIETY

4058596612. MONSTROSITY

4058596613. MONSTROSIETY QEG“EEEE'U nia

-



4058596614. MONSTROCITY

Question Number : 22 Question Id : 4058592021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :
4058596615. CONSPICOUS

4058596616. CONSPICEOUS
4058596617. CONSPICUOUS

4058596618. CONSPICIOUS

Question Number : 22 Question Id : 4058592021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options:

4058596615. CONSPICOUS
4058596616. CONSPICEOUS

4058596617. CONSPICUOUS

4058596618. CONSPICIOUS QEG“EEEE'U nia

-



Question Number : 23 Question Id : 4058592022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Indirect Speech -

He said, "My God! I am ruined."
Options :

4058596619, He exclaimed sadly that he was rumed.

4058596620. He exclaimed that he has ruined.

4058596621, He explained sadly that he had been ruined.

4058596622, He exclaimed sadly that he ruined.

Question Number : 23 Question Id : 4058592022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Indirect Speech -

He said, "My God! I am ruined."
Options:

4058596619, He exclaimed sadly that he was rumed.

4058596620. He exclaimed that he has ruined.

4058596621, He explained sadly that he had been rumned.
Qcﬂllegedu nia

-



4058596622, He exclaimed sadly that he ruined.

Question Number : 24 Question Id : 4058592023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Direct Speech -

He exclaimed that the scene was very lovely.
Options :

4058596623, He said. "How lovely the scene was!”
4058596624, He said, "The scene was lovely".
4058596625, He said. "How lovely the scene 1s !"

4058596626, He said. "How was lovely scene'.

Question Number : 24 Question Id : 4058592023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Direct Speech -

He exclaimed that the scene was very lovely.
Options :

4058596623, He said, "How lovely the scene was!"

4058596624, He said, "The scene was lovely".

Qcﬂllegedunia

-



4058596625, He said. "How lovely the scene 1s !"

4058596626, He said, "How was lovely scene".

Question Number : 25 Question Id : 4058592024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Direct Speech :

Amnjana asked Nitin if he could solve that sum.
Options :

4058596627, Anjana asked Nitin., "Can you solve this sum.
4058596628, Anjana asked Nitin. "You can solve this sum.
4058596629, Anjana said to Nitin, "Can you solve this sum?"

4058596630, Anjana said Nitin, "Can you solve this sum.

Question Number : 25 Question Id : 4058592024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Direct Speech :

Amnjana asked Nitin if he could solve that sum.
Options :
4058596627, Anjana asked Nitin., "Can you solve this sum.

Qcﬂllegedunia

-



4058596628, Amnjana asked Nitin. "You can solve this sum.
4058596629, Anjana said to Nitin, "Can you solve this sum?"

4058596630, Anjana said Nitin, "Can you solve this sum.

Question Number : 26 Question Id : 4058592025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Passive Voice :

Don't touch this switch.

Options :

4058596631. This switch does not be touched.
4058596632. This switch don't be touched.
4058596633. This switch need not be touched.

4058596634. This switch must not be touched.

Question Number : 26 Question Id : 4058592025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Passive Voice :

Don't touch this switch.

Options :

4058596631. This switch does not be touched. QEG“EEEE'U nia

-



4058596632. This switch don't be touched.
4058596633. This switch need not be touchead.

4058596634. This switch must not be touched.

Question Number : 27 Question Id : 4058592026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Passive Voice :

The farmer prepared the field.
Options :

4058596635, Lhe field was being prepared by the farmer.
4058596636, Lhe ficld was prepared by the farmer.
4058596637, Lhe field were prepared by the farmer.

4058596638, The field were being prepared by the farmer.

Question Number : 27 Question Id : 4058592026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Passive Voice :

The farmer prepared the field.
Options : QEG“EEEE'UHI'EI

-



4058596635, Lhe field was being prepared by the farmer.
4058596636, Lhe field was prepared by the farmer.
4058596637, Lhe field were prepared by the farmer.

4058596638, The field were being prepared by the farmer.

Question Number : 28 Question Id : 4058592027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Passive Voice :

Tiny houses dot the landscape.
Options :

4058596639, Lhe landscape 1s being dotted by tiny houses.
4058596640, The landscape has dotted by tiny houses.
4058596641, Lhe landscape is dotted by tiny houses.

4058596642, Lhe landscape has been dotted by tiny houses.

Question Number : 28 Question Id : 4058592027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Qcﬂllegedunia

-



Change into Passive Voice :
Tiny houses dot the landscape.
Options :

4058596639, Lhe landscape is being dotted by tiny houses.
4058596640, Lhe landscape has dotted by tiny houses.
4058596641, The landscape is dotted by tiny houses.

4058596642, The landscape has been dotted by tiny houses.

Question Number : 29 Question Id : 4058592028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank -

Poverty among the public 1s the of all the crimes.
Options :

4058596643. rank and file
4058596644, pins and needles

4058596645, part and parcel

4058596646. root and branch

Question Number : 29 Question Id : 4058592028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Thi
5 collegedunia

Instruction Time: 0

-



Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank -

Poverty among the public 1s the of all the crimes.

Options :

4058596643, rank and file
4058596644, pins and needles

4058596645, part and parcel

4058596646. root and branch

Question Number : 30 Question Id : 4058592029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank -

The of the paragraph must be reflected in a good precis.
Options :

4058596647, sum and substance

4058596648. thick and thin

4058596649. to and fro

4058596650. tooth and nail

Question Number : 30 Question Id : 4058592029 Question Type: MCC -~ ~°~ = ™ T
Question Mandatory : No Calculator : None Response Time : N.A Thi Qﬂgllegedu nia

-



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank -

The of the paragraph must be reflected in a good precis.
Options :

4058596647. sum and substance
4058596648. thick and thin
4058596649. to and fro

4058596650. tooth and nail

Question Number : 31 Question Id : 4058592030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank -

I will abide by you in all

Options :

4058596651, Warp and woot

4058596652, weal and woe
4058596653, Whips and spur

4058596654, Willy nilly

Question Number : 31 Question Id : 4058592030 Question Type : MC( QEC’“EEEE'”“'&

-



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate idiom to fill in the blank -

I will abide by you in all

Options :

4058596651, Warp and woot

4058596652, weal and woe

4058596653, Whips and spur

4058596654, Willy nilly

Question Number : 32 Question Id : 4058592031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the correct option which 1s the most opposite in meaning to the underlined
word :

"Everybody was astonished when he used such a profane language."

Options :

4058596655, sacred

4058596656, pure
4058596657, profound

4058596658, high

Qcﬂllegedunia

-



Question Number : 32 Question Id : 4058592031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the correct option which 1s the most opposite in meaning to the underlined
word :

"Everybody was astonished when he used such a profane language."

Options:

4058596655, sacred

4058596656, PUIe

4058596657, Profound

4058596658, high

Question Number : 33 Question Id : 4058592032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Select the correct option which 1s the most opposite in meaning to the underlined
word :

"His writings have been much eulogised by Indian scholars".

Options:

4058596659. laud

4058596660. extol

4058596661, Pallyhoo
Qcﬂllegedunia

-



4058596662, disparaged

Question Number : 33 Question Id : 4058592032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the correct option which 1s the most opposite in meaning to the underlined
word :

"His writings have been much eulogised by Indian scholars".

Options :

4058596659, laud

4058596660. extol
4058596661, Pallyhoo

4058596662, disparaged

Question Number : 34 Question Id : 4058592033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the word which 1s most opposite in meaning to the underlined word :

"My uncle 1s very wealthy, but rather parsimonious in his habit.”

Options:

4058596663, sxiravagant

4058596664, ZEnerous

Qcﬂllegedunia

-



4058596665. careless

4058596666. strict

Question Number : 34 Question Id : 4058592033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Select the word which 1s most opposite in meaning to the underlined word :

"My uncle 1s very wealthy, but rather parsimonious in his habit.”

Options :

4058596663, sxiravagant
4058596664, 2E1EIOUS
4058596665. careless

4058596666. strict

Question Number : 35 Question Id : 4058592034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'TEETOTAL'
Options :

4058596667. PSYCHIC

4058596668. ABSOLUTE ,
5 collegedunia

-



4058596669. APPRISE

4058596670. CRAFT

Question Number : 35 Question Id : 4058592034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

"TEETOTAL'
Options :

4058596667. PSYCHIC
4058596668. ABSOLUTE
4058596669. APPRISE

4058596670. CRAFT

Question Number : 36 Question Id : 4058592035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'SPECK!
Options :

4058596671. STAMP

4058596672. MACULA Qﬂfﬂ legedunia

-



4058596673, GHOST

4058596674, NAME

Question Number : 36 Question Id : 4058592035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'SPECK!
Options :

4058596671. STAMP
4058596672. MACULA
4058596673, GHOST

4058596674. NAME

Question Number : 37 Question Id : 4058592036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Of the four alternatives, choose the one which best expresses the meaning of the
given word.

"Colossal"

Options :

4058596675. tamous

Qﬂﬂllegedunia

-



4058596676, Vigorous

4058596677, energetic

4058596678. enormons

Question Number : 37 Question Id : 4058592036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Of the four alternatives, choose the one which best expresses the meaning of the
given word.

"Colossal"

Options :

4058596675. famous
4058596676. Tigoi‘ous

4058596677, snergetic

4058596678. enormions

Question Number : 38 Question Id : 4058592037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

One who is incharge of a museum.

Options: .
5 collegedunia

-



4058596679, SUPEIVision

4058596680. curator
4058596681. collector

4058596682, caretaker

Question Number : 38 Question Id : 4058592037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

One who 1s incharge of a museum.

Options :

4058596679, SUpervision
4058596680. curator
4058596681. collector

4058596682 caretaker

Question Number : 39 Question Id : 4058592038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -

Extremely ugly in a strange way that is often frightening or funny’. QEG' le ge dunia

-



Options :

4058596683. ostentatious

4058596684, cerie

4058596685, grotesque

4058596686. Scaly

Question Number : 39 Question Id : 4058592038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -

'Extremely ugly in a strange way that is often frightening or funny’.
Options :

4058596683. ostentatious

4058596684, cerie

4058596685, grotesque

4058596686. 541y

Question Number : 40 Question Id : 4058592039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Qﬂﬂllegedunia

-

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Choose one word for the given group of words :

'bad or criminal behaviour, usually of young people'.

Options :

4058596687, criminality

4058596688, delinquency

4058596689. homicide

4058596690, felony

Question Number : 40 Question Id : 4058592039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words :

'bad or criminal behaviour. usually of young people'.
Options :

4058596687. Cl‘illlilla].il'}'

4058596688, delinquency

4058596689. homicide

4058596690, felony

Quantitative Ability Qcﬂllegedunia

-



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 41 Question Id : 4058592040 Question Type : MCQ Option Shuffling : Yes Is

405859114
2

Online
Mandatory
20

20

20

Yes

0

1
405859136
Yes

null

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper bought 25 chairs from a manufacturer for 2 37.500 and sold them at

a profit equal to selling price of 5 chairs. The selling price of one chair, 1s:

Options :

4058596691. 1875

4058596692. 1500

4058596693. ¥ 1250

4058596694. 1200

Qﬂﬂllegedunia

-



Question Number : 41 Question Id : 4058592040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

farell gTaR A FEfd ¥ 7 37.500 H 25 $RIG @RIl 3R 3% 5 HRITl &
fasp Hed & SRIaR oY IR o9 3411 U Sf @1 fash Hed fba1 g2

Options :

4058596691. 1875
4058596692. 1500
4058596693. 1250

4058596694. T 1200

Question Number : 42 Question Id : 4058592041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A sum of money borrowed on simple interest amounts to T 720 after 2 years and 2
1020 after a further period of 5 years. The borrowed sum of money i1s:

Options :
4058596695. % 500
4058596696. 520

4058596697. % 600

4058596698. Z 640

Qcﬂllegedunia

-



Question Number : 42 Question Id : 4058592041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

HIYRU] &7 UR JYR ol 7141 Ueb §FRIR 2 91 o GLT 2 720 AUT 5 AR a8 &
TYTd Z 1020 B Sl © | FYR it T 4111 &:

Options :

4058596695. ¥ 500
4058596696. % 520
4058596697. % 600

4058596698. % 640

Question Number : 43 Question Id : 4058592042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If20% of A=15%0of B = i C.thenA:B:Cis

Options :

4058596699. 4:3:5
4058596700. 15:20:12

4058596701. 12:20:15

-]
[FS]
EES

4058596702. 3:3:4

Qﬂﬂllegedunia

-



Question Number : 43 Question Id : 4058592042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Uﬁ.&WED%=BWIS%=i ce. dlA:B:Co |

Options :

4058596699. 4:3:5
4058596700. 15:20:12

4058596701. 12:20:15

¥
L]
EES

4058596702. 5:3:

Question Number : 44 Question Id : 4058592043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
7.038 +27.3+1.0079+3.035+0.8 +14=

Options :

-]
| ]
[ ]
o
I-)‘
(]

4058596703. -
4058596704, 53.1809
4058596705, 52.3529

4058596706. 54.0539

Question Number : 44 Question Id : 4058592043 Question Type : MCl( QEG“EgEdU nia

-



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
7.038 +27.3+1.0079+3.035+ 0.8+ 14 =

Options :

]
| ]
[ ]
o
Ry
D

4058596703. -

4058596704, 53.1809

4058596705, 52.3529

4058596706. 54.0539

Question Number : 45 Question Id : 4058592044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The average of all the numbers between 8 and 33. and which are divisible by 5 1s
Options :
4058596707. 18

4058596708. 16

4058596709. 20

| R}
i

4058596710.

Question Number : 45 Question Id : 4058592044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Thi
Qﬂﬂllegedunia

Instruction Time: 0

-



Correct Marks : 1 Wrong Marks : 0.25

5 O faursy 9uT 8 31X 33 & Og Pt gt Geaii o1 3igd &

Options:

4058596707. 18

4058596708. 16

| R}
=

4058596709.

I-J
i

4058596710.

Question Number : 46 Question Id : 4058592045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In an election between two candidates, 30% of the voters voted for candidate A
whereas 60% of the remaining voters voted for candidate B. The rest of the voters
did not cast their vote. If the difference between those who voted for candidate A
and those who did not cast their vote 1s 2500, then how many voters were there in
the voters list?

Options :
4058596711, 125000
4058596712. 130000

4058596713. 132000

4058596714. 135000

Question Number : 46 Question Id : 4058592045 Question Type : MCO Onbtion Shufflina : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Thi .
5 collegedunia

-



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

foreit g1a & &l SHIGaR WS © | 59 919 5 30% Haaldisl 4 SHIGaR A &I
30 Hd 68 Seid WY D 60% HAQId3Hl 5 SHIGIR B DI 301 Hd {11 Iy
S HAaraIsi 3 #da T8l fhar| aig A &1 7d & gl 9UT HAgH 7 & arel
T SicR 2500 81 Gl Adard =i H fd Fdemr o2

Options :

4058596711. 125000
4058596712. 130000
4058596713. 132000

4058596714. 135000

Question Number : 47 Question Id : 4058592046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

-

; ; 5 ;
Three numbers are in the ratio Iﬁ ; {_ ;é and the difference between the greatest and

the smallest numbers 1s 12. What 1s the difference between the squares of the
largest and the smallest numbers?

Options:
4058596715. 144
4058596716. 576

4058596717. 64

4058596718. 16

QEG“EEEE'UHI'EI

-



Question Number : 47 Question Id : 4058592046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

RIEES LS %‘;5 ! & Srurad A € IR a9 991 U0 9ay BIc S/ SiR 12

6'2

o USY g U1 9YT Tad SIS G=1 & a1 & ol 3R 82
Options :

4058596715. 144
4058596716. 576
4058596717. 64

4058596718. 16

Question Number : 48 Question Id : 4058592047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

68% of a number i1s more than its 52% by 64. What 1s 75% of this number?
Options:

4058596719. 270

4058596720. 291

4058596721, 300

4058596722. 312

Qﬂﬂllegedunia
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Question Number : 48 Question Id : 4058592047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
fop il =T BT 68%, THD 52% ° 64 31ED § | 9 T-HI BT 75% 1 62
Options :

4058596719. 270
4058596720. 291
4058596721. 300

4058596722, 312

Question Number : 49 Question Id : 4058592048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In a class of 40 students, the average marks scored by 10 students 1s 22, whereas
the average marks scored by the remaining students i1s 62. The average marks
scored by all the students of the class, 1s:

Options :
4058596723. 50
4058596724. 51

4058596725. 51

4058596726. 53

Qﬂﬂllegedunia
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Question Number : 49 Question Id : 4058592048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

faret wen & 4o faemdf € fomH 9 10 faenfial &1 ofird urai®s 22 8. 9afd 99
faenfeial &1 3{1ed UIdids 62 3 | & & gt faentddl &1 Sied Wi &:

Options :

4058596723. 50
4058596724. 51
4058596725. 51

4058596726. 53

Question Number : 50 Question Id : 4058592049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

g e s o 2 4 : :
Two identical cups have milk in them up to % and - of their volumes. respectively.

Water 1s poured to fill the cups. Then the mixtures of the two cups are mixed. What
1s the ratio of water to milk in the new mixture?

Options :
4058596727. 11:4
4058596728. 1:4
4058596729. 4:1
4058596730. 4:11

Qcﬂllegedunia
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Question Number : 50 Question Id : 4058592049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
<1 TP QU WIal § 3% M & HH: 2 qul % TR d% g4 WIS | A

1R HRA 3 R0 Tt ST o 1 RpR G et & vy a1 it
ST § | -1U fas0r & 91+l 9 g8 &1 S[UTd 91 82

Options:

4058596727. 11:4
4058596728. 1:4
4058596729. 4:1

4058596730. 4:11

Question Number : 51 Question Id : 4058592050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A and B invested in a business in the ratio 3:2. If 5% of the total profit goes to
charity and the share of B in the remaiming profit 1s 1425, then the total profit 1s

Options :
4058596731, £ 3150

4058596732, 3900

4058596733. ¥ 3750

. 23650 i
4058596734 anllegedu nia
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Question Number : 51 Question Id : 4058592050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ATYTB = TP IR H 3:2 & 3J01d J 9 foban1 afe o vy &1 5% e
e T quT 2y @y O B 1 fgx1 21425 § Al o 1M &:

Options:

4058596731. 2 3150
4058596732. T 3900
4058596733. T 3750

4058596734, Z 3650

Question Number : 52 Question Id : 4058592051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A retailer bought shirts at the rate of T 200 per shirt and marked them at 300
cach. He allowed some discount and earned a profit of 35% on the cost price. What
i3 the percentage of discount?

Options :

4058596735. 9%
4058596736. 10%

4058596737. 14%

4058596738, 16% Qcﬂllegedu nia
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Question Number : 52 Question Id : 4058592051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TS QeI faghal = ufd BHIel 200 TUT B &R Y IS Wial 3R YD Bie
WR 7 300 Hed 3ifehd 011 S84 31 R TS B al 3R U e W 35% AT
S| e BT Ha<rd 71 82

Options :

4058596735. 9%
4058596736. 10%
4058596737. 14%

4058596738. 16%

Question Number : 53 Question Id : 4058592052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If 50% of (x+2y) = 40% of (x+5y). then what percentage of x is y?

Options :

0

33="%
4058596739, " 3
4058596740, 25%
4058596741, 15%

Qﬂﬂllegedunia
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4058596742. 10%

Question Number : 53 Question Id : 4058592052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
e (x+2y) BT 50% = (x+5y) BT 40% B, 'y, x B a1 U< 82

Options :

0

33=%
4058596739, " 3

4058596740, 25%
4058596741, 15%

4058596742. 10%

Question Number : 54 Question Id : 4058592053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 20 days, while A and B together can do it in 12 days
and A, B and C all together can do it in 10 days. In how many days will the work
be done if they work for a day in the pattern (A. Aand B.Aand C. A, .....)?

Options:

4058596743, 12 days

4058596744, 15 days

4058596745, 16 days :
5 collegedunia
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4058596746, 18 days

Question Number : 54 Question Id : 4058592053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ATS B Bl 20 R H 7 TodI 81 Ta(d A. B S U IT S of 12 g1 o
P IDdle dUTA,. B AR c o v gy foaar sdt s a0 fga d &
Johci gl G dUeH (A, AR B.AJARC. A, ....) D IR UD-UD [ B
@ dl 98 B fdha fe=T T qR1 81 g

Options :

4058596743, 12 fad
4058596744, 15 fa
4058596745, 16 fa

4058596746. 18 T&d

Question Number : 55 Question Id : 4058592054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Profit earned by selling an item for 2650 1s 20% more than the loss incurred by
selling the same item for  2375. At what price should the item be sold to earn
20% profit?

Options :

4058596747. Z 3000

Qcﬂllegedunia
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4058596748. = 3100
4058596749. % 3125

4058596750. Z 3140

Question Number : 55 Question Id : 4058592054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

o<l o @l 7 2650 H 99 TR SHfold a1y 34t 9% &1 22375 H a9 Y gH
arait I T 20% 3HTE@ g1 20% ATH Hfoid A @ (o0 I a%g ol [ Jod
R &9AT dlfeu?

Options :

4058596747. = 3000
4058596748. T 3100
4058596749. Z 3125

4058596750. ¥ 3140

Question Number : 56 Question Id : 4058592055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If 13190 is divided by 14, the remainder is:
Options :

4058596751. 1

Qﬂﬂllegedunia
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4058596752. 3
4058596753. 7

4058596754. 9

Question Number : 56 Question Id : 4058592055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
afg 13190 &t 14 9 fguiforg fesar wmo, 91 Ivwd &
Options :

4058596751. 1
4058596752. 3
4058596753. 7

4058596754. 9

Question Number : 57 Question Id : 4058592056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If the difference between the simple mterest recerved from two different sources
on I 1000 for 3 years is T 90. then the difference between their rates of interest 1s ;

Options:

4058596755. 2%

4058596756. 3% QEG“EEEE'U nia
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4058596757. 2.5%

4058596758. 3.5%

Question Number : 57 Question Id : 4058592056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

% 1000 TR 3 99 & o0 Y i idi O Wi TR0 e § 31 2 90 5. df 3%
S B & H IH<R 8

Options:

4058596755. 2%
4058596756. 370
4058596757. 2.5%

4058596758. 3.5%

Question Number : 58 Question Id : 4058592057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What 1s the smallest number which leaves no remainder when divided by numbers
1.2:3, 97

Options:

4058596759. 1820

4058596760. 2520 :
5 collegedunia
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4058596761. 3280

4058596762, 4020

Question Number : 58 Question Id : 4058592057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

W g S S e e Pl 1, 2.3, ..., o TEIS S UM FA R DTS
YN TRl Sl § 2

Options:

4058596759. 1820
4058596760. 2520
4058596761. 3280

4058596762, 4020

Question Number : 59 Question Id : 4058592058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

K.<=])
Hg=54+2 ﬁ.then{ ~ 15 equal to:
+ \I!_ JE |

Options:

4058596763. 1

4058596764, 22 QEG“EEEE'U nia
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4058596765, 32

4058596766. 2

Question Number : 59 Question Id : 4058592058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

5 (K1) e o 2
qfd K =5+246. = e aRTeR o

Options :

4058596763, 1
4058596764, 242

4058596765, 3v2

4058596766. 2

Question Number : 60 Question Id : 4058592059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

6-3x0.06 =

Options :

4058596767. 0.32

4058596768. 0.38 Qcﬂllegedu nia
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4058596769, 0.32

4058596770. 0.38

Question Number : 60 Question Id : 4058592059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
6-3x%0.06 =

Options :

4058596767. 0.32

4058596768. 0.38

4058596769, 0.32

4058596770. 0.38

Analytical & Logical Ability

SectionId: 405859115
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Qﬂﬂllegedunia

Section Marks : 15
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Enable Mark as Answered Mark for Review and
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Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 405859137
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 4058592060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A solid cube has been painted red. blue and black on pairs of opposite faces. It 15
then cut mto 64 cubical blocks of equal size. How many cubes have two faces
painted red and black and all other faces unpainted?

Options :

4058596771. 12
4058596772. 4
4058596773. 8

4058596774. 16

Question Number : 61 Question Id : 4058592060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U9 31 U4 & [A9iid wad! & gl ! ard, Hid T S FTY NI e |
R 576 THIM TPR P 64 U1 Wsl H FIel Adl | Fd1sU (& fdod- g1 &
&l B ard a4l Bl T § adl = 94 e F1gU sl 6 2

Options : anllegedunia
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4058596771. 12
4058596772. 4
4058596773. 8

4058596774. 16

Question Number : 62 Question Id : 4058592061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A.B. C.D.E. F and G are playing cards sitting around a circular table. D 1s not
neighbour of C or E and A 15 neighbour of B and C. G. who 1s second to the left of
D. 18 the neighbour of E and F. Which of the following options shows the correct
order?

Options :

4058596775. DAB
4058596776. GCE
4058596777. BCA

4058596778. GFD

Question Number : 62 Question Id : 4058592061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Qﬂﬂllegedunia

-



% JHIPR Ho & IR] AR 6P A, B, C, D, E, F ARG A WAL EI D, C
g1 E BT USRI 6] § SR A, B SR C BIUSKII 81 G Gl 6 D & aRil 3R g
®H W g 98 E R F 1 syl 8| Fufofad fdeedl § 9 &F 91 %d Jal 82

Options :

4058596775. DAB
4058596776. GCE
4058596777. BCA

4058596778. GFD

Question Number : 63 Question Id : 4058592062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Introducing a man. Meera said that he is the brother of the daughter of the wife of
my husband. How is the man related to Meera?

Options :

4058596779. Son
4058596780. Husband

4058596781. Brother

4058596782, Nephew

Question Number : 63 Question Id : 4058592062 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
5 collegedunia
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Correct Marks : 1 Wrong Marks : 0.25

T oty 1 a3 g, 7T 3 el i ag R U A R A R T wE R
39 fdd &1 HR1 T 37 Hay 87

Options:

4058596779, 34

4058596780, Tl

4058596781.1W§

4058596782. YIS

Question Number : 64 Question Id : 4058592063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[3ﬁx4}- 8x4 .

If ~ means +, — means —., *x means — and + means . then _ - 9
4+8x2+16+1

Options :

4058596783. 8
4058596784. 6
4058596785. 16

4058596786. 0

Question Number : 64 Question Id : 4058592063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Thi .
5 collegedunia
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

aft - &1 ol +, — 1 3l -, < BT ol - MR+ T aef o B,y LBOx4)-8x4 _,
4+8x2+16=+1

Options :

4058596783. §

4058596784, 6

4058596785. 16

4058596786. 0

Question Number : 65 Question Id : 4058592064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How many such 5s are there in the following number sequence each of which 1s
immediately preceded by 2 or 3. but not immediately followed by 7 or 87

45905359458256725485359510
Options :

4058596787. 6

4058596788. 4

n

4058596789.

4058596790. 3

Question Number : 65 Question Id : 4058592064 Question Type : MC( .
yP 5 collegedunia
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

frafeiaa @ oo B U fivaq 5 ¢ forge q3d usd 2 3fyar 3 g feg qa
q1% 7 3Ydl 8 781 62

45053504582567254853595140
Options :

4058596787. 6

4058596788. 4

hn

4058596789.

4058596790. 3

Question Number : 66 Question Id : 4058592065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A boy rode his bicycle northwards. then turned left and rode 1 km and again turned
left and rode 2 km. He found himself exactly one km west of his starting point.
How far did he ride northwards mitially?

Options :

4058596791. 1 km
4058596792. 2 km
4058596793. 3 km

4058596794. 5 ki

Qcﬂllegedunia
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Question Number : 66 Question Id : 4058592065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U TS U1 Hlgldd 3R &1 3R o Sldl 5, [ a1l SR g 1 fo 1.
STl & SR OF: a1 3R g8as 2 far M. Sa1 8| 98 St SRM® fag &
qfgm 1 Siep 1 fob 1t 9% S0 HUD! WST Ul 1 URY H 98 SR f2n
fepa-il g e T

Options :
4058596791, 1 T .

4058596792. 2 T&r T,

4058596793, 3 T 1.

-]

4058596794, 5 T T,

Question Number : 67 Question Id : 4058592066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term 1 the following number series:

0.3 122788 758... T .. 147
Options :

4058596795. 105
4058596796. 116

4058596797. 108

4058596798, 128 Qcﬂllegedu nia
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Question Number : 67 Question Id : 4058592066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

frafeRad e e o o S8 &1 9dl aigy:

0,3,12,27.48, 7

L

.2 ., 147

Options :

4058596795. 105
4058596796. 116
4058596797. 108

4058596798. 128

Question Number : 68 Question Id : 4058592067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If 453945 15 code for DECIDE. then 8978 is code for which word?

Options:
4058596799. BHEF

4058596800. CDEH

4058596801. GHEE

4058596802. HIGH ,
5 collegedunia
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Question Number : 68 Question Id : 4058592067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gl 453945 BT B¢ § DECIDE P, Al 8978 v d Weg T e g2

Options:

4058596799. BHEF
4058596800. CDEH
4058596801. GHEE

4058596802. HIGH

Question Number : 69 Question Id : 4058592068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Given below is a statement followed by two assumptions number I and II.
Consider the statement and decide which of the assumptions 1s/are implicit in the
statement?

Statement :

His recent investment in the shares of company A is only a gamble.
Assumptions :

I. He may incur loss on his investment.

II. He may gain from his imnvestment.
Options :

4058596803, 1f only assumption I 1s implicit.

Qcﬂllegedunia

-



4058596804, 1t only assumption II 1s implieit.
4058596805, 1f either I or IT 1s implicit.

4058596806, 1f neither I nor II 1s implieit.

Question Number : 69 Question Id : 4058592068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

2 tE SyF fRuT a1 § 1 S9% U4 S URUMI 1 G 11 31 718 & | Y IR fdaR
?ﬁﬂqwgﬁr@ﬁﬁﬁﬂﬁiﬁqwﬁmﬁﬁﬂﬁm.swﬁmﬁﬂ%a

DY : DU A D TR H ISP 810 1 1 fobar Fam o g gl
YIROMU ;

I 39 39 Faw ¥ gl 81 9ol o

1L 39 3= 9% & a8 g g

IR difee:

Options :

4058596803, DA YRUN I 3dHed |

4058596804, 9ad YRV II 3{digd |
4058596805, 1 STUAT II 3HaHIgd o

4058596806, I 31Ul T BIg Sfdl-led 76! &

QEG“EEEE'UHI'EI
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Question Number : 70 Question Id : 4058592069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Given below is a statement. followed by two arguments numbered I and II. You
have to decide which of the arguments 1s/are a 'strong’ argument.

Statement:

Should students take part in politics?

Arguments:

I.  Yes. it inculeates in them qualities of leadership.

II. No. they should study and build up their career.
Options :

4058596807, 1t only argument [ 1s strong.

4058596808, It only argument II is strong.

4058596809, 1f either I or IT is strong.

4058596810, 1f neither I nor II is strong.

Question Number : 70 Question Id : 4058592069 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Qcﬂllegedunia
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TR e pyE w81 39S MR W el dad 19 11 G M B FuA W fdER
BT GUT GHIET DI far SIH-91/E qh THIaRITT 5/87

DU : HTBEI DI ASHIT H U A1 18T
db: 1. B 98 9 g Bl &l e S|
II. ol 3 Ue-ferg &= 391 Hiasy §=1 =1fe |

FR gifoTe:

Options :

4058596807, O(¢ dhad ddb 1 I¥ad gl

4058596808, IS Had o 11 9Y&Gd o

4058596809, e I HYdT 11 Tad g |

4058596810, T4 I HYTT 11 BT TG ol 6

Question Number : 71 Question Id : 4058592070 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

How many days will there be from 26t January 2004 to 15t May 2004 (both days
meluded)?

Options:
4058596811. 110

4058596812. 111

4058596813. 112

4058596814 113 :
5 collegedunia
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Question Number : 71 Question Id : 4058592070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

26 GFART 2004 F 15 T 2004 0 D (e o g (fau U i fa=i &1 i
P )

Options:

4058596811. 110
4058596812. 111
4058596813. 112

4058596814. 113

Question Number : 72 Question Id : 4058592071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A class of boys stands in a single line. One boy 18 nineteenth n order from both the
ends. How many boys are there in the class?

Options :
4058596815. 27

4058596816. 37

4058596817. 38

.39 i
4058596818 anllegeduma
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Question Number : 72 Question Id : 4058592071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TS G S T6P UP FaR H WS ¢ | UH dSD 1 bH G- BRI J 1901 o | BT
T 3 foem 5 &

Options :

4058596815. 27
4058596816. 37
4058596817. 38

4058596818. 39

Question Number : 73 Question Id : 4058592072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements labelled as Assertion (A) and Reason (R). Choose
the correct option as per the codes provided below:

Assertion (A): In winter. a glass tumbler breaks when hot water 1s poured mto 1t.

Reason (R): The outer surface of glass expands when hot water i1s poured into it.
Options:

4058596819, Both (A) and (R) are true and (R) is the correct explanation of (A).

4058596820, Both (A) and (R) are true but (R) i1s not the correct explanation of (A).

Qcﬂllegedunia
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4058596821, (A) 1s true but (R) 1s false.

4058596822, (A) 1s false but (R) 1s true.

Question Number : 73 Question Id : 4058592072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FafaRad 3l FuF ey (A) IR TR (R) & =0 1 sifed g1 51 iGu e
Pl & ATIR el fadpe 9T

HFHYF (A): Tel & Fi9 & a9 E TH g1 STa- IR a8 ¢ Aal g |
BRUI (R): T DI ST&I el 7T Tl 1o R §¢ Sl 5|

Options:

4058596819, (A) 3R (R) &FI T8l § 3R (R). (A) B el AT & |

4058596820, (A) 3R (R) &I HEl 8 3R (R). (A) P el ARAT T8l ¢

4058596821, (A) Te! & [ () T

4058596822, (A) TTad 8 fb=d (R) HE1 B

Question Number : 74 Question Id : 4058592073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Qcﬂllegedunia
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Answer the question based on the set of numbers given below:
738 429 156 273 894

Which of the following will be the last digit of the second highest number after the
positions of the digits in each number are reversed?

Options :
4058596823. 1

4058596824. 7

4058596825. 4

| )

4058596826.

Question Number : 74 Question Id : 4058592073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

1= f3U TTT 3{-THgl & YR W U B TR SHofC:
738 429 156 273 894

Yd® G- & STl B afeufd 3de o1 IR fgdia S=ay = & Sifad i@
frafafad & S s smm

Options :
4058596823. 1

4058596824. 7

4058596825. 4

| )

4058596826.

QEG“EEEE'UHI'EI
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Question Number : 75 Question Id : 4058592074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given three statements followed by three conclusions
numbered I, IT and III. You have to take the given statements to be true even if they
seem to be at variance from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically follows from the given
statements”?

Statements:
Some blades are hammers. Some hammers are knives. Some knives are axes.
Conclusions:
I. Some axes are hammers.
II. Some knives are blades.

III. Some axes are blades.

Options:

4058596827. None follows
4058596828, Only I follows
4058596829, Only II follows

4058596830, Only III follows

Question Number : 75 Question Id : 4058592074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Qcﬂllegedunia
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TR fermuuy § dR ey fGu U 81 39% YR TR 1, 11 111 o feae

[Tal 71U 5 | |THIRI T: J1d a2 & S8R 139 o H &1 Ry O o sima g9 gt
HYF B T T4 | 56 ug AR 70 & (& R =i @ oe-a1 ey

difises ©9 9 Gat Haad 82

GRICE

S IS gUS ¢ $F gUIS 1% &1 B 9% Peell gl

frep:
I P9 Pelsdl gUlS gl

1. $0 99 &S ol

1. $3 Peelisdl &S o

IR gifeTe:

Options :

4058596827, PI% S ol [HoHadl &

4058596828. &ad I [Heddl 8

4058596829, ad II (& adl 3

4058596830, 0 111 el ©

General Knowledge and Current Affairs

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

405859116
4

Online
Mandatory

25

25 Qcﬂllegedunia
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Section Marks : 25

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 405859138
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 76 Question Id : 4058592075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following countries 1s NOT a part of Group of Twenty (G20)?

Options:

4058596831, Argentina
4058596832, Mexico
4058596833 Peru

4058596834. Saudi Arabia

Question Number : 76 Question Id : 4058592075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
fFrofafad ¥ ¥ $1H-91 39 620 G 3P 2dd) o1 9w T8l &2
Options :

4058596831, HSICI] QEG“EgEdUHia

-



4058596832, Hidgd®!

4058596833, U=

4058596834. J&Hal 3Re

Question Number : 77 Question Id : 4058592076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who amongst the following 1s NOT one of the Ramon Magsaysay Awardees 20237
Options:

4058596835, Rakshand. Korvi

4058596836, Lemos. Eugenio

4058596837, Ballon. Roberto

4058596838, Coronel-Ferrer, Miriam

Question Number : 77 Question Id : 4058592076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
fFrafiEd o 8 1 T T8 REBR faelar 2023 781 82
Options :

e, PRl i
4058596835. QEG“EEEE'U nia

-




4058596836. I, Ei[ Bl

4058596837. qdl, Jqe

4058596838, PRI - TR, ARYH

Question Number : 78 Question Id : 4058592077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who amongst the following has been awarded with Arjuna Award 2022 for Para
Swimming?

Options:

4058596839, Swapnil Sanjay Patil

4058596840. Sarita
4058596841, Tarun Dhillon

4058596842, Jerlin Anika J.

Question Number : 78 Question Id : 4058592077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad 8 ¥ ford URT o1 & e 2022 &1 3ol YREPR UaH a1 T

Options :
4058596839, WU FoTg UIfCT Q collegedunia
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4058596840, T

4058596841, o0 e

4058596842, SIRIeA 3T o,

Question Number : 79 Question Id : 4058592078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Place the following kingdoms after Mauryan Empire in chronological order.
A. Shakas

B. Indo-Greeks

C. Kushanas

Choose the correct answer from the options given below:

Options :

4058596843, B. C. A
4058596844, C. B. A
4058596845, C. A. B
4058596846, B. A. C

Question Number : 79 Question Id : 4058592078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Thi~" 7~ - ®" » 2#f=fmmoreme

Instruction Time: 0 = CG“EEEE'UH[E

-



Correct Marks : 1 Wrong Marks : 0.25

A1 WY & 918 Fyifed JHred] &1 SIapH-aR aryd SHifog:
A ID

B. YRA-GH! (3S1-3i®)

C. PNl

< feu 7Tu fasedl § 9§ 98l 3R gHU:

Options :

4058596843, B. C. A
4058596844, C.B. A
4058596845, C. A. B

4058596846, B. A. C

Question Number : 80 Question Id : 4058592079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Statement A : Mahatma Gandhi returned to India in January 1918.

Statement B : He had come from South Africa where he had successfully fought
the racist regime with a method of mass agitation. called Satyagraha.

Choose the correct answer from the options given below:
Options :

4058596847. Statements A and B are correct.

4058596848, Statements A and B are incorrect.

4058596849, Statement A is correct. but Statement B 1s incorrect. .
5 collegedunia
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4058596850, Statement A is incorrect, but Statement B is correct.

Question Number : 80 Question Id : 4058592079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HYF A : HoT1 Tiel FHad 1018 § YR dlc|

HUF B - 4 SIE0T AMHepT § 31U U O8] 3611 ol 3figra Huid IaE &
i Y %l o7 R & [93g Ihaagde Juy f&ar ui|

- feu e faw el # 9 w6t SR T

Options :

4058596847, YT A IR B TRl ¢

4058596848, YT A 3R B S e ¢
4058596849, PUT ATl ¢ fbg B Tad €1

4058596850, PUT AT © fb B W1 &

Question Number : 81 Question Id : 4058592080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which year Alexander Cunningham published a set of Ashokan mscriptions?

Qcﬂllegedunia

-

Options:

4058596851. 1784



4058596852. 1810

4058596853. 1956

4058596854. 1877

Question Number : 81 Question Id : 4058592080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
dlgolie} SHYH A 5T au e & Rareal o1 U I Ui fdar un

Options :

4058596851. 1784
4058596852, 1810
4058596853. 1956

4058596854. 1877

Question Number : 82 Question Id : 4058592081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Qﬂﬂllegedunia
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Match List I with List II

LIST I (Years) LIST II (incidents occurred)
A |1801 I. |Mawab Wajid Ali Shah deposed
B |1838 II. |Rani Jhansi killed in Battle
C. |1836 III. |Mutiny starts in Meerut
D. |1837 IV. |Subsidiary Alliance introduced by Wellesley in Awadh

Choose the correct answer from the options given below:
Options :

4058596855, A-IL. B-IV, C-I. D-III
4058596856, A-IV. B-IL, C-I. D-III
4058596857 A-IV. B-IL. C-III. D-I

4058596858, A-II. B-IV. C-III. D-I

Question Number : 82 Question Id : 4058592081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Il 1 1R 1 11 I T B

A 1 (@) T 11 (TeHTHH)

A |1801 1 |HdrE giioig 3t Qe &1 gHy0

B. [1858 1. I i &1 g °§ 5

c. (1836 1L |73 H fa5ig &1 Ry

1 - | BT SfaY H e e o1
&l C|SRH

1 f¢u 7T fasedi § 9§ 981 SR gHU

Options:

4058596855, A-IL. B-IV. C-I. D-III

4058596856, A-TV, B-IL, C-L D-IIT QEGHEEEdUHI’H

-



4058596857, A-IV. B-II. C-III. D-I

4058596858, A-IL. B-IV, C-III, D-I

Question Number : 83 Question Id : 4058592082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following has not been written by Kalidasa?
Options :

4058596859. Kumarsambhava

4058596860. Uttarramcharita
4058596861, Raghuvansa

4058596862, Mughaduta

Question Number : 83 Question Id : 4058592082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

9 | & Fa1 F1fee™ gRI Id el 82

Options :

4058596859, PHRIHC

4058596860, JTRHIN
5 collegedunia
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4058596861, Y4IXI

4058596862. RET

Question Number : 84 Question Id : 4058592083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The ancient rock-cut caves of Karla and Bhaja are situated here. Identify the place:
Options :

4058596863. Nashik

4058596864, Khandala
4058596865, Solapur

4058596866, Aurangabad

Question Number : 84 Question Id : 4058592083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

DIl qUl YISl &1 T Ad-ahe (el Dl DI 15 7Tg) TPHIE Fol Fud
¢t | WH @I 9gd1-g:

Options :

4058596863, -T®

4058596864, TaId
5 collegedunia
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4058596865, “CITIX

4058596866, SRITETG

Question Number : 85 Question Id : 4058592084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which crop needs well drained fertile soils. moderate temperatures and lots of
sunshine?

Options:

4058596867. Rice
4058596868. Wheat
4058596869. Millets

4058596870. Maize

Question Number : 85 Question Id : 4058592084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

?wmﬁgmi’%n 3R eI, HY dIugH SR HRYR YU $I SgRgadl gidl

Options :

4058596867. Ul

4058596868, TR :
5 collegedunia
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4058596869. 41 317 / Hid AT

4058596870. HIDT

Question Number : 86 Question Id : 4058592085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The largest salt water lake in India lies in Odisha 1s:

Options :

4058596871. Pulicat
4058596872. Chilika

4058596873. Loktak

4058596874, Barapani

Question Number : 86 Question Id : 4058592085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

NS & fRyd YRd Bt gead wavig o arelt sifswn fud sia g-

Options :

4058596871. 3 T

4058596872, Teiedl
5 collegedunia
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4058596873. dldhcd

4058596874, SSTHI: i

Question Number : 87 Question Id : 4058592086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The remains of the dead plants and animals trapped in the layers of rocks are
called

Options:

4058596875, Fossils
4058596876. Sediments
4058596877. Ore

4058596878. Minerals

Question Number : 87 Question Id : 4058592086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
T2 B IRl H B §U Hd UIayl Ud Sirgsfi Pl 3y Sl o:
Options :

4058596875, SIIATYH

4058596876, HdHI%

Qﬂﬂllegedunia
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4058596877. HUID

4058596878, W5l

Question Number : 88 Question Id : 4058592087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Typhoid and tuberculosis are:
Options:

4058596879. viral diseases
4058596880. bacterial diseases

4058596881, fungal infections

4058596882, lifestyle diseases

Question Number : 88 Question Id : 4058592087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
CAPIES R qUfe® AT §:

Options :

4058596879, ATART (TANTUIEHTIR)

4058596880, ST IRAT (SITATIHTRG)

Qﬂﬂllegedunia
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4058596881, HAD-UHHU] I TN

4058596882, SHA-TSIal I Hafed

Question Number : 89 Question Id : 4058592088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which law of motion 1s applied when. a high jump athlete is made to fall either on
a cushioned bed or on a sand bed?

Options :

4058596883. Second law of motion
4058596884. First law of motion
4058596885, Third law of motion

4058596886. Both Second law of motion and First law of motion

Question Number : 89 Question Id : 4058592088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ofd %l $g dldl TYelic DI TgdaR 9 UR 31yd €l & fa3dR R R
ST © 1 T1fd 1 1= 91 9 9] 8iar g2

Options:

4058596883, i ®1 fedid Fam

4058596884, T BT Tgdll (HgH ,
5 collegedunia
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4058596885, TTid @1 digl fAgH

4058596386, TTTd @I fgdid Hag 3R T1faesT g AgH. gl

Question Number : 90 Question Id : 4058592089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Common cold and influenza are caused by:

Options :

4058596887. Viruses
4058596888. Bacteria

4058596889. Protozoans

4058596890, Fungi

Question Number : 90 Question Id : 4058592089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
T 961 3R gequel Haifed 8§ ¥ [9s RIS o2

Options :

4058596887. a 1

4058596888, V1191 anllegedunia

-



4058596889, UGSl HT

4058596890. hdd

Question Number : 91 Question Id : 4058592090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

"Autosum" button 1s available on

Options :

4058596891. MS Word file
4058596892, MS Power Point file

4058596893. Excel Work Sheet

4058596894, Ay PDF file

Question Number : 91 Question Id : 4058592090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
3 g Fgifed 3 I frad Suasy &:

Options :

4058596891, U1 TH TS BIgd

4058596892, UH TH UTaR WIge Bled
Qﬂﬂllegedunia
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4058596893. Uﬂi[ﬁ il

4058596894, PIs I TIEIUH BIgd

Question Number : 92 Question Id : 4058592091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements:
A. Sorting of data can be done in MS Excel.
B. Duplicates in data cannot be removed in MS Excel.

Which of the above statements 1s/are true?

Options :

4058596895, Only A is correct.

4058596896, Only B is correct.
4058596897. Both A and B are correct.

4058596898. Neither A nor B i3 correct.

Question Number : 92 Question Id : 4058592091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Qcﬂllegedunia
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fFaifed Ul ) [TER Sifo:

A. THUY Uadd H Sre1 ot Gifdn &t off 9@l g

B. UH UY Uad § S1Cl &1 AleieRul 8] gerdl Sl Hebdl 6|
Frgifed ¥ & 98 $UF SUde & G F 98 e
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Question Number : 93 Question Id : 4058592092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In India, High Courts were first established in 1862 in which of the following three
Presidency cities?

A. Hyderabad
B. Calcutta

C. Bombay
D. Madras

Choose the correct answer from the options given below:

Options :

4058596899, /. B and C only

4058596900, A. C and D only

4058596901, B- C and D only Qﬂﬂ legedunia
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4058596902, A. B and D only

Question Number : 93 Question Id : 4058592092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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4058596899, AT A, B 3R C
4058596900, PAT A, C HR D
4058596901, PaA B, C AR D

4058596902, PAT A, B HR D

Question Number : 94 Question Id : 4058592093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Consider the following statements:

A. Legal dispute between the Union and the States can be resolved only by the
Supreme Court of India.

B. Legal dispute between the States themselves can be resolved by the High
Courts.

Which of the above statements 1s/are correct?

Options :

4058596903, Only A is correct.

4058596904, Only B 1s correct.
4058596905. Both A and B are correct.

4058596906. Neither A nor B 1s correct.

Question Number : 94 Question Id : 4058592093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 95 Question Id : 4058592094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements:

A. The term judicial review 1s mentioned in the Constitution of India.
B. High Court in India do not have the power to 1ssue writs of Habeas Corpus.

Which of the above statements 1s/are correct?

Options :

4058596907, Only A is correct.

4058596908, Only B 1s correct.
4058596909. Both A and B are correct.

4058596910. Neither A nor B 1s correct.

Question Number : 95 Question Id : 4058592094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 96 Question Id : 4058592095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The provision of Directive Principles of State Policy of the Constitution of India 1s
inspired by the constitution of which of the following countries?

Options :

405859691 1. British Constitution
4058596912. Irish Constitution
4058596913. French Constitution

4058596914, Canadian Constitution

Question Number : 96 Question Id : 4058592095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058596911, Tsifc=r Hfgur
4058596912, HATORGS &I Ifaem
4058596913, Wi &1 Tfdu

4058596914, DTSl BT WA

Question Number : 97 Question Id : 4058592096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

'The Gold Standard' which was the prevailing system from around 1870 to 1914,
was the epitome of which of the following?

Options:

4058596915, Managed Floating Exchange Rate System
4058596916, Flexible Exchange Rate System

4058596917. Autonomous Transactions

4058596918, Fixed Exchange rate System

Question Number : 97 Question Id : 4058592096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 98 Question Id : 4058592097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
What do you understand by Infant mortality rate?

Options :

4058596919, 1t is the death of children below 2 years of age.
4058596920, 1t 1s the death of children below 1 year of age.
4058596921 . It 1s the death of children below 6 months of age.
4058596922, 1t 1s the death of children of 3 months of age.

Question Number : 98 Question Id : 4058592097 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Qcﬂllegedunia
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Question Number : 99 Question Id : 4058592098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are components of Capital Account?

A. External Borrowings
B. Transfer Payments
C. External Assistance
D. Investments

Choose the correct answer from the options given below:

Options:

4058596923, 4. B and C only
4058596924, A. C and D only
4058596925. B. C and D only
4058596926, A- B and D only
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Question Number : 99 Question Id : 4058592098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058596923, AT A, B 3R C
4058596924, PAT A, C HR D
4058596925, PAA B, C HR D

4058596926, PO A, B 3R D

Question Number : 100 Question Id : 4058592099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Variables differ on the basis of specific criterion. which are broadly classified mto
which of the following two types?

Options:

4058596927. Continuous and discrete

4058596928, Chronological and Spatial

Qcﬂllegedunia
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4058596929. Standard deviation and mean deviation

4058596930, Mode and Range

Question Number : 100 Question Id : 4058592099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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